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Problem quickname: 2802

1)

Solutions to smp-2802-1/BQWT

Worksheet

Read the numbers from the diagram to

Amount(Cent)
Season | North | East
Spring 70 80 -
Summer 50 40 %
Autumn 60 50 o
Winter 100 100
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2)

Read the numbers from the diagram to complete the table.

Solutions to smp-2802-1/BQWT

Volume(cm?)
City Morning | Noon | Afternoon
Taberg 100 500 800
Hurleyville 400 600 600
Mentor 500 700 700
Indianola 700 400 200
Myersville 600 800 900
Oakes 900 100 300
Clutier 800 200 400
Brooks 200 1000 1000
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Solutions to smp-2802-1/BQWT

Create a table with headings. then put the values from the bar chart into the table.

Volume(m?)
Season | Morning | Noon
Spring 30 20
Summer 60 30
Autumn 80 70
Winter 90 80
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4)

Read the numbers from the diagram to complete the table.

Area(m?)
City Spring | Summer | Autumn
Noatak 2000 7000 9000
Oakes 1000 3000 6000
Hesperus | 4000 5000 5000
Arco 8000 8000 3000
Killarney | 7000 2000 4000
Grandfalls | 10000 6000 10000
Weare 6000 4000 7000
Suplee 3000 9000 1000
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Solutions to smp-2802-1/BQWT
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Good Luck!

www.dw-math.com Page 4 smp-2802-1/BQWT



